ATV SUZUKI KINGQUAD 700/750

HanmeHoBaHune 3awumTa

OcH.4acTb 401632

Komnnekrauus

2 x Bunt M6x20
11 x BuHt M8x20

Material: Aluminium

4V,
o)X
M6 = 9.8 Nm

bl

o

3Oy
M8 = 24 Nm

2 x LLlanba 6
2 x lanba 6I"

11 x LWanba 8
11 x LWanba 8I

4 x AmopTtusaTop
cpeaHun (PI 14000)

2 x bBont M8x50
8 x BuHt M8x20

2 x lanka M8

Moporu 40.1633

14 x Wanba 8
8 x llanba 8I

10 x lanka M6

40.1632
24 x lLlanba 6
24 x llan6a 6

40.1634

190020r.ClN6 Ha6.06BoaHOro kaHana a.150 ten: (812) 495-95-49, 335-05-25




	Страница 1

